AL |||
. _!Lj B00-543-k
1' IN ill TP i 'i'

Accessories

Replacement Keys

Part Number Description to use with holder size

1/2-KEYSET two 1/4” rotating pins 1/2”

3/4-KEYSET two 5/16” keys with screws 3/4”

1-KEYSET two 3/8” keys with screws 17

1-1/4-KEYSET two 1/2” keys with screws 1-1/4”

1-1/2-KEYSET two 5/8” keys with screws 1-1/2” N

2-KEYSET two 3/4” keys with screws 2"

2-1/2-KEYSET two 1” keys with screws 2-1/2”

22-KEYSET two 10mm keys with screws 22mm

27-KEYSET two 12mm keys with screws 27mm é

32-KEYSET two 14mm keys with screws 32mm g

40-KEYSET two 16mm keys with screws 40mm E

3

Replacement Arbor Screws @

Part Number to use with holder size

A5/8-11 Face Mill Mounting Bolt

A1/4-28 1/2”

A3/8-24 3/4”

A1/2-20 17

A5/8-18 1-1/4”

A3/4-16 1-1/2”

Al1-14 2"

A10mm-P1.5 22.0mm

A12mm-P1.75 27.0mm

A16mm-P2 32.0mm

A20mm-P2.5 40.0mm

Coolant Tube Wrench for HSK holders

Part Number Description

HSK63-WRENCH Wrench for HSK63 Coolant Tube
HSK40-WRENCH Wrench for HSK40 Coolant Tube
HSK100-WRENCH Wrench for HSK100 Coolant Tube

Coolant tube wrenches are needed to remove or install coolant tubes in HSK toolholders

Coolant Tube for HSK holders

Part Number Description

HSK63-TUBE Coolant tube for HSK63 holders
HSK40-TUBE Coolant tube for HSK40 holders
HSK100-TUBE Coolant tube for HSK100 holders

83



